Reaction Types & Balancing     
Name_______________
Balance the following equations and indicate the type of reaction taking place:

1) ____ NaBr + ____ H3PO4 ( ____ Na3PO4 + ____ HBr

Type of reaction: ____________________

2) ____ Ca(OH)2 + ____ Al2(SO4)3 ( ____ CaSO4 + ____ Al(OH)3
Type of reaction: ____________________

3) ____ Mg + ____ Fe2O3 ( ____ Fe + ____ MgO

Type of reaction: ____________________

4) ____ C2H4 + ____ O2 ( ____ CO2 + ____ H2O

Type of reaction: ____________________

5) ____ NH3 + ____ I2 ( ____ N2I6 + ____ H2
Type of reaction: ____________________

6) ____ H2SO4 + ____ NH4OH ( ____ HOH + ____ (NH4)2SO4
Type of reaction: ____________________

7) ____ N2 + ____ H2 ( ____ NH3
Type of reaction: ____________________

[image: image1.png]Which is a correctly balanced chemical equation?
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K,CO, +BaCl, - KCl+BaCO,
K,CO, +BaCl, — 2KCl+BaCO,
K,CO, +2BaCl, - 2KCl+BaCO,

K,CO, +2BaCl, - KCl+2BaCO,



[image: image2.png]Which is the correctly balanced

equation?

A Cl,+2Nal - 2NaCl+1,
B Cl,+2Nal - NaCl+2I,
C  Cl+Nal—>NaCl+I,

D  2Cl, +Nal - 2NaCl+1,




Types of Reactions Worksheet – Solutions
Balance the following equations and indicate the type of reaction taking place:

1)
3  NaBr + 1 H3PO4 ( 1 Na3PO4 + 3 HBr

Type of reaction: double displacement
2)
3 Ca(OH)2 + 1 Al2(SO4)3 ( 3 CaSO4 + 2 Al(OH)3
Type of reaction: double displacement
3)
3 Mg + 1 Fe2O3 ( 2 Fe + 3 MgO

Type of reaction: single displacement
4)
1 C2H4 + 3 O2 ( 2 CO2 + 2 H2O

Type of reaction: combustion
5)
2 PbSO4 ( 2 PbSO3 + 1 O2
Type of reaction: decomposition
6)
2 NH3 + 3 I2 ( 1 N2I6 + 3 H2
Type of reaction: double displacement
7)
1 H2O + 1 SO3 ( 1 H2SO4
Type of reaction: decomposition
8)
1 H2SO4 + 2 NH4OH ( 2 H2O + 1 (NH4)2SO4
Type of reaction: acid-base
For chemistry help, visit www.chemfiesta.com

© 2002 Cavalcade Publishing – All Rights Reserved


